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1. FEEIIA
OFZ¢'ON 19, 463, 000 17, 400, 000 2, 063, 000
OWHEZ=F I 5,917, 500 5,592, 500 325, 000
O@ZEFEFHEIA 534, 000 293, 000 241, 000
@— g I 320, 000 360, 000 -40, 000
@HEIA 5, 000 5, 000 0
FRIETIAGE (A) 24, 690, 500 23, 650, 500 1, 040, 000

2. FHEIET S
OF =3 53 10, 312, 150 10, 181, 800 130, 350
QB 14, 684, 500 12, 574, 500 2, 110, 000
FRIEE G (B) 24, 996, 650 22, 756, 300 2, 240, 350
FHIEBINEEE (A) - (B)=(C) -306, 150 894, 200 -1, 200, 350

0. FEHFEINSOH

1. BEEEIA
BRI 500, 000 0 500, 000
FEHFENAZT (D) 500, 000 0 500, 000

2. PEIRHEISH
FRH 2 E LTRSS 4, 400, 000 5, 000, 000 -600, 000
BRI FE N A TEA A S 0 1,000, 000] -1, 000, 000
i R AT VAT BB A PR A S I 7, 000, 000 7, 000, 000 0
JFE 4 S MR R N T A A S ] 500, 000 500, 000 0
PRAEAS STHA ST HH 4 100, 000 0 100, 000
BETEE G (E) 12, 000, 000 13, 500, 000 -1, 500, 000
FBEIEEIN S EF (D) - (E)=(F)|  -11,500,000f -13, 500, 000 2, 000, 000
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1. METEBIA
WHBIEBINAGE (G) 0 0 0
2. WMEBIEES
S TEE S G (H) 0 0 0
WS TS BN = 724 (G) - (H) = (1) 0 0 0
IV. Pl S (J) 1, 742, 850 1, 000, 000 742, 850
YN SERR (C)+(F)+(D-()=(K)| -13,549,000] —13, 605, 800 56, 800
AR e (L) 26, 769, 835 40, 375, 635]  ~13, 605, 800
I SR (K + (L) 13, 220, 835 26, 769, 835 —13, 549, 000




